Wete st & B HA FRA Rl e T IR RAT A8 PR A ROV
TEOEEHENMRAS

WRIEM R G E AR AR (BURRR “Aad” ) BILiaAT R AR
AEZEENHETL B 2018 4 02 H 07 Hid, A2 w Lo iAT Bt A7 iR
DA AN S 2 e A LA, 5T AE T IR ARAT e A FR 22 7]

&

PR EE I 3 R IR S 1. GRS S . BAREESERWT:
Fe | E&MREL HELK

1 000290 T 4 R U 2 A5 5 2 R S R I 4 N IR BE
2 000409 AR PR Ml i SR A IE S 4 B H 4
3 000431 TS i REAE AR R TG T B VR A BRSP4
4 001067 S AE 5L Ry AL B VR A RE e st 4 A 28
5 001222 MEAEAh e R K RIEIC B VR A AE R R 4
6 001325 e 5L AN R G L B VR & ALIE R 5t 3 4 A 2R
7 001327 WA 5L 4 R TE N B R A AR S 4 A 26
8 002259 Mg R AR R VG AL B VR & ANE S R R 4
9 002695 TS5 e ST R G L B VR A TE R e e s 4 A 2K
10 002914 FS A A e S R TG L B VR A T SR T A 4
11 003122 TS B 5 W R v E B VR A B S 38 T A 4
12 003343 s, B RV B VR A B R B i 4 A 2R
13 003527 A= i 57 25 R SR P B S 4
14 003828 T A B 5 W TR v IiE B VR A BRI 3% T A 4
15 003983 st AR R S T A 4
16 004036 g 5L RE L B VR G AUIE R B B 3 4 A 2R
17 004096 TSN R e T R Ve L B VR A B R B B A 4
18 004292 TS A R s IR DX G S B S R T 4
19 004986 MeAE SR (Rl 4 R EC B VR A AE R R 4
20 005416 WA B B 18 /N H e I BUR & BRSS9 2 4 A 2K
21 005417 P2 18 /N H e BT BUR & RIE R 3 4 ¢ 36
22 005422 SHE D 5% W IR VA BL B VR A ALIE s R T e 4
23 160607 MM AE AR A TS R R4 (LOF)
24 160612 IS IR 5 TR S P o 0 4
25 160615 WAy 300 FEEOGESH R EH S (LOF)
26 160624 TS 45 B AT RIGIC B IR & RNE R &
27 160634 TS 4 A E B 1%#%@&“%%%&’%9@\
28 160638 PS4 HRIE — 77 — % 32 PR B IR SR R A




29 206008 G A 3= R [ U a5 75 TR SR R T

30 206011 G A 32 [ g b P R 2 P 0 A 4

31 206018 g AE AV A5 57 25 TR S 5 B A 4

2 501023 %é%h%¢ﬁﬁﬁ¢$ﬁ&&ﬁ£ﬂhﬁﬁ%%%
% (LOF)

R B A 1 AR S BRI L B R KM o B B AR WA A F R AR ik

ReReGR. HERRH R KRGS~ d. SEEEE LN SR

1. YLHBRITROERAE]
P ARS HIE: 95319

NE] S www. jsbehina. cn

2. IBEESEHFRAT
BRSO HETE: 400-6788-999
P4k www. phfund. com

PSR s A2 R 7R CAMSEAR . SR ot %) S e BRI 22 < M 7
(EAPRAER: G — 5 A, WA TRIERARI T . R FH T T AL ) LR EE G
IWHB AR G e A WA (R S0k, IFREE B 5 XK
RRENILFEE A H CORIEEE o OETR U R

R A R o

Ws 45 4 BEAT PR W)
—O—N\F=H+tH



